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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
| each sentence. Then mark the correct choice on your answer sheet.

1- The questionnaire was intended to -------- -- information on eating habits.
1) retain 2) survey 3) elicit 4) presume
2- The prime minister has called on the public to ---------- behind the government.
1) raily 2) denote 3) pursue 4yunderlie
3- College life opened up a whole ---------- of new experiences.
1) core 2) gamut 3) exposure 4) appreciation
4- The discovery of the new planet gave fresh ---------- to research om life in outer space.
1) status 2) scheme 3) impetus 4) domain
5- It was -=semeeeen of me to forget to give you the message.
1) pitfall 2) remiss 3) obstacle 4} inhibition
6- The number of old German cars still on the road =-------- to the excellence of their manufacture.
1) traces 2) orients 3) restores 4) attests
7- Age alone will not ---------- them from getting admission to this university.
1) react 2) distort 3) conduct 4) preclude
8- New technology, the main ---=----- of the 1980s, has been a mixed blessing.
1) legacy 2) surplus 3) expansion 4) circumstance
9- I'm sure my university days appear happier in --------- - than they actually were at the time.
1) procedure 2) proportion 3) retrospect 4) pproximation
10- Even a(n) ---------- glance at the figures will tell you that sales are down.
1) cursory 2) implicit 3) marginal 4} sustainable

| PART B: Grammar

A map 1§ always smaller than the real world which it represents. The difference (11) -———----
between the map.and the Earth’s surface (12) ---------- a scale ratio. For example, the scale
ratio  1:50,000 states that one unit of measurement on the map is (13) -———---- fifty thousand
such units on the ground. Therefore, one centimeter on the map amounts to 50,000 centimeters
(500 meters) (14) -—------= the ground.

A map at a large scale, (15) ——----- 1:10,000, will show a small area of the Earth's surface
in considerable detail. A small-scale map, will show a much larger area, but in much less
detail.
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11-1) 1n size 2) as size 3) from sizes 4) for sizes
12- 1) expresses 2) is expressing
3) is expressed by 4) will be expressed by
13-1) equally to 2) equally with 3) equal with 4) equal 10
14-1)in 2) on 3) over 4) undeg
15- 1) similar 2) such as 3) being like 4) the same as

§ PART C. Reading Comprehension

Passage 1

The combination of young steep geology, seasonal humid tropical climate and high
population pressure and poverty that is found om the Indonesian island of Java has
resulted in a situation in which the upland agricultural hillsides are eroding at alarming
rates. Whereas this problem was acknowledged as early as the 1930s, many past
attempts to bring land degradation to a halt have failed, either because the proposed
changes of land use management were not adopted or because they did not bring about
the expected effects (Nibbering, 1991). For example, Purwanto (1996) estimated that
currently over 80% of Java's cultivated uplands have been terraced, yet river sediment
loads continue to be high. This has prompted attention to sources of sediment other than
the unirrigated hillsides such as landslides, bank erosion, expansion of paddy rice fields
and contributions from roads and villages (Carson, 1989; Diemont et al., 1991). It has
also been suggested that the (temporary) storage of sediment in and near rivers may give
rise to considerable delay between the introduction of soil conservation and the first
signs of reductions in downstream sediment discharge.

16. The problem mentioned in the passage ------------- )

1) beganin the 1930s

2} has been harmessed

3) is very severe

4) has not never been addressed

17. The erosion taking place in the upland agricultural hillsides «-----e---,
1) was quickly handled once it first started

2) was first construed as a temporary phenomenon

3) is faster than one might expect under normal circumstances

4) ‘has specifically alarmed the poverty-stricken people in the region

18. The word “they™ in line 7 refers to ----------- .
1) attempts 2) changes
3). upland agricultural hillsides 4) land and its degradation
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19. Which of the following is cited as a source of river sediment loads?
1) Expansion of paddy rice fields 2) Humid topical climate

3) High population pressure 4) Cultivated uplands
20. The phrase “give rise to “in line 13 could best be replaced by —--=-------,
1) trigger 2) protract 3) increase 4) elevate
21. Which of the following represents the author’s attitude towards the subject of the
passage?
1) Indignant 2) Prejudiced 3) Indifferent 4) Concerned
Passage 2

Using the same exponential distribution theory, equations were developed that can be
applied to interpret results obtained with various devices designed to measure rain splash
detachment and transport. The theory was successfully used to interpret measurements
of rain splash on the studied bench terraces using splash cups on the terrace bed and a
combination of a 'splash box' and a Gerlach-type trough on the riser (Chapter 9).
Similarly, measurements of splash in a soil tray equipped with splash guards could be
interpreted with the developed theory (Chapter 10). While the use of essentially
‘horizontal’ theory inevitably introduced some errors, it proved io be a valuable tool for
describing splash detachment and transport. It led to a nomber of conclusions with
regard to the studied bench terraces.

22. What has the focus of the paragraph preceding this passage been?

1} An equation type 2} Some devices

3} Some research resulis 4) A theory

23. According to the passage, a combination of a 'splash bex' and a Gerlach-type
trough on the riser was employed to -—-=------ .

1) to measure rain splash detachment and transport

2) as a means in a theory to shed light on some measurements of rain splash

3) to design splash cups on the terrace bed

4) as an indicator of rain splash on the studied bench terraces

24, Which of the following is true in regard to the errors mentioned in the passage?

1) They could have prevented from happening.

2) They contaminate the conclusion made based on the honzontal theory.

3) They seem to be inherent in the use of the theory referred to in the passage.

4) They tend to detract from the value of the description of splash detachment and

transport.
25. The passage is primarily written to ----------- .
1) evaluate 2) appnse 3) promote 4) speculate
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Passage 3

Wave-cut platform, also called Abrasion Platform, is a gently sloping rock ledge that
extends from the high-tide level at the steep-cliff base to below the low-tide level. It
develops as a result of wave abrasion; beaches protect the shore from abrasion and
therefore prevent the formation of platforms. A platform is broadened as waves erode a
noich at the base of the sea cliff, which causes overhanging rock to fall. As the sea cliffs
are attacked, weak rocks are quickly eroded, leaving the more resistant rocks as
protrusions. These irregularities may take the form of sea arches, sea stacks, or sea caves,

Wave-cut platforms are dependent on rock structure and type. Selid, massive rock,
such as gramite, is resistant to abrasion and may modify or even prevent platform
formation. In a few cases cliffs plunge down directly into deep water. This is usually the
result of recent faulting or volcanic activity. Plunging cliffs are only slightly affected by
wave erosion; therefore, the formation of abrasion platforms is inhibited.

With a change in sea level, platforms may be submerged or raised, ending the
processes of formation. Raised platforms are referred to as marine terraces. These can be
used to calculate coastal uplift or the lowering of sea level through time, particularly
where intermediate stillstands of sea level have produced a series of terraces along a
coasi.

26. Which of the following is a factor contributing to the emergence of wave cut platform?
1) Gently sloping rock ledge

2) Wave abrasion

3) The high-tide level at the steep-cliff base

4) The low-tide level

27. What does the author mean by "these irregularities” (line 7)?
1} Protrusions

2} Weak rocks

3) Notches at the base of the sea cliff

4y Attacked sea chffs

28. The author refers to granite mainly in order to --=-s=ceeece-.- :

1) demonstrate that rocks enjoy different degrees of massiveness and solidity

2) provethat cut-wave platform may be ebserved in areas far from seas

3) bolster the assertion the rock type and structure play a role in whether abrasion
platforms are formed

4) counter the already made statement to the effect that the abrasion platform type and
structure vary from rock to rock

29. Which of the following is true about plunging cliffs?

1) They originate under water when there 15 volcanic activity.

2) They are foreed out of water due to recent fanlting or volcanic activity.

3) They are not as so much affected by waves to preclude the formation of abrasion platforms.

4) They are mentioned to support the claim that there are cases in which abrasion
platform formations do not become a reality.
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30. According to the passage, marine terraces --=------- -

1) are a series of terraces along a coast

2) can signal the end of platform formation process
3) are platforms formed under water and then raised to the surface
4) can lead to coastal uplift or the lowering of sea level through ti
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